EANBNESNXEHES
()40 64 4 18 (E)SR T4 34318

B—SHE R

(AL )
BEHBE FE(A) RE (B) Z=&()-3B) HE
NERESZENA 734,480,000 727,649,178 6,830,822
EANBHEZWA 85,000,000 84,852,774 147,226
Iy |[REREFHESNA 516,000 516,000
E=AVNE-35 FIFSERERET NN 60,528 60,528
% F OO 5,185,000 6,003,761 /818,761
& FEEHIRAF (1 824,665,000 819,082,241 5,582,759
2] | ABEXH 536,068,000 523,365,410 12,702,590
& |EmEEwy 135,950,000 144,612,793 8,662,793
5 =
iy |3 |[F BRI 80,150,000 84,597,343 4,447,343
X (H | F#F) 8 K H 5,791,000 5,800,952 9,952
FoMoXH 3,430,000 3,594,988 \164,988
FEEHTHE Q) 761,389,000 761,971,486 A\582,486
FEFHESNZEZHG)=(1)-(2) 63,276,000 57,110,755 6,165,245
REEEEALZRA 32,500,000 /32,500,000
i i BEEEEFEHIYA 4 Ad
A
=
g M ER B E Y AET (4 32,500,004 32,500,004
- [REEeEASTEREXH 51,464,000 51,538,000 AT4,000
T L BEEEERSXH 35,756,030 35,756,030
qé;% o BEEEERE - EEXY 4 Y
= MR EREZ HE (5) 51,464,000 87,294,034 35,830,034
MREREESNZERE(6)=(4)-(5) /\51,464,000 54,794,030 3,330,030
FOMDIEBZ L DA 311,600 A311,600
Sl
fin |
g T DA DIEBHIAF (7) 0 311,600 A311,600
%{J RN EEXH 609,795 609,795
%E‘ %
H
4
22 FOMOIER % Ht (8) 0 609,795 /609,795
FOMDEHNE2INKTEZRE (9)=(1-(8) 0 298,195 298,195
TFhw#E 3 (10) 24,031,000 . 24,031,000
SHESNIEZFEA (11)=(3)+(6) +(9)-(10) 12,219,000 2,018,530 A14,237,530
AMHERXIESRERS (12) 201,334,283 183,390,107 17,944,176
LRI EEES (1D +(12) 189,115,283 185,408,637 3,706,646




